§8. Teopema Be3y u ciaeacrBug u3 Hee.
3adavu.

. Iomemmts ¢ octatkoMm 62* + = + 5 Ha 2% — 22 + 1.

223 —4x% 452

. IIpencraBurh —5

B BUJjie ax? + bx + ¢ + %.

. P(x) = 2% — 5zt — 42% — 202% — 8. Haiitu P(7) ¢ nomouipio cxembl LTopuepa.
. Pemmuts ypasnenue x® + 322 — 62 — 8 = 0.

. Pemuth ypasnenne 42* + 22 — 3z +1 = 0.

. Pemmte ypasmenne 3\/z + 2 = %.

. Pemurs ypasnenue x7 + 32% — 52% — 1523 + 62 + 18 = 0.

. Pemure ypasuenne 26 — 2% + 2 — 23 + 22 — 2+ 1= 0.



Omesemu, % 3adauam. (1) 62* 4+ +5 = (2% — 2z + 1) (627 + 122 + 18) + 25z — 13; (2) 227 +5 + -1%;
(3) 2442; (4) —1, 2 m —4; (5) 1/2; (6) 1/9; (7) -3, v/2, V/3; (8) mer KopHeii.



